AnroMmmMHMM

B5 B14
n; i P Muy | fs | P | Ny g B C D E F O P Q@ R | T U]|pgp ﬂ
[min™] [kW] | [Nm] [kW] | [Nm] 100 100
Kop nepeps.
63 71 80 & 90 12 56 63 | 71 80 90 12 o
411 n.= 1400 min™
892 157 | 1.5 | 155| 2.6 3.9 41 [19/24 B C C 98 | 2844
493 | 2.84 | 15 285 1.5 2.2 43 [19/24 B C C 98 | 1954
426 | 3.29 | 15 33 15 2.2 49 [19/24 B C C 98 | 1756
362 | 3.87 | 1.5 39 | 1.0 1.6 41 [19/24 B C C 98 | 1558
303 | 462 | 1.5 46.3| 1.0 1.6 49 [19/24 B C C 98 | 1360
222 | 6.30 | 1.1 1 46.3| 1.0 1.1 47 119/24 B C C 98 | 1063
170 | 8.22 055 30 @ 1.3  0.70 39 19/24 B C C 98 974
130 | 10.86 0.37 27 1.1 | 0.39 28 [19/24 B C C 98 776
49.5 Nr°4 - M8x14 Tun 411 (MoTopHbIN dnaHeu)
- &,
S MoTopHBbIi
P41 1 - N M6x16 'ﬂ’l o) dnaHey A 96 k1
© \ | 71 B14 119.5 105 123
;%: % ——JI 80 B14 120.5 120 124
oo}
215 R © 90 B14 121.5 140 125
© 100/112 B14 119.5 160 123
30 o
~ — 63 B5 121.5 140 125
un9 2. 71B5 119.5 160 123
101 80/90 B5 1215 200 125
A — BbixogHown cdnaHew / Output flange
al ll b1 el cl f1 s1
120 80 100 | 11.5 3 9*
P411-F 1 1 140 | 95 115 115 | 3 9
1 _ 160 110 130 | 115 3.5 9
40 o O 200 130 | 165 | 115 | 35 | 1M
© { §=
= <| --f= * MonoxeHue oteepcTuit / holes p@n
f © o l |
215 ung T B °
1@} © LI BeixogHou Ban / LU Output uscita
/ i 0 Q,ﬁ Cranpapt L 19x40
1 o 3anpocy LU 24x40
Mo 3anpocy LI 14x30
c1 I
36.5 k1
urn9
Standard VhCIZI(;]cl’i 3.20 Kr
- 112.5 ,
N°4 - M8x15
J—
[ L P Y
un9 | [ ‘ =
=IO © " 2
N°4 - M8x15 32,26 >
18 110 110
139 132
=}
~
M o
B)  Coupling by means of reduction bushing @
[MonoxeHune oTBepCTUIA MOTOPHOro hnaHua @
J C) | penyxropa
Motor flange/terminal box position




